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LAW
Interpretation of Statutes
(K-6001)
Time : 3 hours] [Maximum marks : 100

Note: Attempt all the sections as per Instructions.
e |l grel @ MEAgER & i |
Section-A (@""3—33)
Very Short Answer Question (G‘lﬁ’ Y SRER) Qfﬁ')
Note: Attempt all five questions. Each Question carries

4 marks. Very short answer is required not

exceeding 75 words.
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1. Name the doctrine "Generic words must follow the

specific words."
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Note:

e

(2)

Can an explanation clause enlarge ﬁhe Sc pe
original section?

wm@wwa&rmﬂ(w)%ﬁmﬂ
qeT Tl &f !

Why should a taxing statute be strictly construedo
TR AT B FRT A 7 = gy a@q
Define the rule of 'Stare decisis'.
Tl argaeer Fem & ofenfyg PIfoTT |
Explain the rule 'Casus Omissus'.
T e e @ g
Section-B (@“3-@{)
Short Answer Questions (7g iy g5 )

Attempt any two questions out of the following
three questions. Each question carries 10 marks,
Short answer is required not exceeding 200 words,

Contemporanea expositio will not always be decisi
of a question of construction. Discuss v
TAHIRTS TEA T 1 3 197 2 Rye Rige
SERARCCEr o8
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(3)
Discuss the doctrine of "Noscitur a sociis".
‘TEEarl = O @ fadEEr ST |
Explain "Reddendo Singula Singulis". doctrine.
RESIREH SINENIN R EAR G I LE
Section-C (W—’T)

Detailed Answer Questions (Eﬂﬂ'ﬂ SRR Q-‘Ff)

Note: Attempt any three questions out of the following

e

10.
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five questions. Each question carries 20 marks.
Answer is required in detail.

Frfefaa aig medt & A Bl d9 gl @
IR ARE | Td® U9 20 % & 2| fEga
I ST B |

How does Golden Rule of Interpretation differ from
Literal Rule?

e Tl “afm Fem” “afes 97 |
frg g e 27

"The words of statute, when there is a doubt about
their meaning are to be understood in the sense, in
which they best harmonise with the subject matter
of the enactment". Discuss.

“gifafam & 9 St 3% oY § GE 8, S o1
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11, Explain'Retrospective operation of Statistics'. Give

12,

13.

(&)

reference of some decided cases.

el sl yad B e #ift | e
fafwive awt @1 samn &

What canons of interpretation Indian Judiciary adopts

while interpreting the Indian Constitution? Examine.

WA wRe B N e am O
EAUIH e & R Rt @ e 27
faasmT Y

Is a penal statute capable of wide interpretation? If
s0, in what circumstances?
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